NTERADHB(HEBERFH
A —rh2RER—TA—-3E— AE A
K4
1) ROFRELGESL, (4R X58=20)

1) 31.122+5.7+9.1

2) (5.1+43.7)—6.99

3) 8.7x%3.42+2. 246

4) 57.49+68. 73—(71.5+54. 72)

5) 158.76+4.2+6.3—4.12



NTERADHB(HEBERFH

A —rhRER—T R — 38— NBE A

K4

2) ROFEZELLEEL, (4RX5E=201)

1)

2)

3)

4)

5)

2.862+1.06—2.7

4.5%x(3.6+6.7)

112. 5—48. 9—-56. 8

25.48+5.2+36.72+7. 2

27.63+3.8%6.4—51. 95



NTERADHB(HEBERFH

44 —rhRER—T7 A — 38— KEE A

K4

3) ROEHEZELGED, (ARX58E=20R)

1)

2)

3)

4)

5)

110. 46+26. 3—4. 2

60—(32.6+19. 7)

0.8x%x5.7%x3.6

12.92+6. 8—0. 26x%7. 2

(5—3. 3)x(16. 8+47. 6)



NTERADHB(HEBERFH
4 —rh2RER—T7 A — 38— KIE A
K4
4) ROFEZELLGEL, (4RX5E=201)

1) 7.3-6.5%0.92

2) 40.8+19.7-52.7

3) (7.2x4.2)+6.3

4) 28.98+(1.5+12.8-7.4)

5) (7.3-1.89)—(6.7—1.29)



NTERADHB(HEBERFH

A —rh2RER—TA - 38— &IE A

K4

5) ROFEZELLEL, (4RX5E=201)

1)

2)

3)

4)

5)

(31.09+18.83)+7.8

(70—15. 47)+36. 88

39. 52+-0.8+7.6

42. 8x(41.5+28. 7—62. 9)

18. 72—26. 88+5. 6x3. 9



NTERADHB(HEBERFH

A —thZZER—7A—38
1) ARE—@E (45 X58)
1) 0.6 2) 1.81
2) KIE—MRE (4R x5H)
10 2) 46.35
3) KiEg—EE (4R x5%8)
10 2) 7.7
4) KIE—RRE (4R x5H)
1) 1.32 2) 7.8
5) &E—ME (4R X58)

1) 6.4 2) 91. 41

A =
3) 32 4) 0 5) 1.88
A =
3) 6.8 4) 10 5 0
A =
3) 16.416 4) 0.028 5) 109.48
A =
3) 4.8 4) 4.2 5 0
A =
3) 6.5 4) 312.44 5) 0



